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Viking's Pride
by Martin Steiner, 20.09.2021

E—T— Angles for R.I. = 1.540
—g o 97 + 8 girdles = 105 facets
N ot 8-fold, mirror-image symmetry
T b3 96 index
L/W =1.000 T/W =0.291 U/W =0.291
P P1 P/W =0.470 C/W =0.210
l Vol./W? = 0.259
P2
> L .
PAVILION

P1 43.20° 01-11-13-23-25-35-37-47- cut to centerpoint
49-59-61-71-73-83-85-95

G1 90.00° 96-12-24-36-48-60-72-84 establish size

P2 41.00° 06-18-30-42-54-66-78-90 cut to new centerpoint

P3 44.95° 96-12-24-36-48-60-72-84 level girdle

CROWN

C1 52.00° 01-11-13-23-25-35-37-47- determine girdle thickness, cut to cp
49-59-61-71-73-83-85-95

C2 38.87° 05-07-17-19-29-31-41-43- meet girdle
53-55-65-67-77-79-89-91

C3 23.81° 96-12-24-36-48-60-72-84 meet apex C1

C4 16.16° 04-08-16-20-28-32-40-44- meet apex C2
52-56-64-68-76-80-88-92

C5 13.51° 96-12-24-36-48-60-72-84 meet apex C3

T 0.00° Table meet apex C4
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